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Shopping Multiplication

Solve the following word problems.

Sophie bought 12 dresses for her boutique. Each
dress cost $345. How much did Sophie spend in
total?

A grocery store sells a pack of 24 bottles of water
for $123. How much would 15 packs cost?

A toy store sells a box of 36 toys for $124. How
much would 10 boxes cost?

A furniture store sells a set of 5 chairs for $234.
How much would 12 sets cost?

A bakery sells a dozen donuts for $345. How much
would 20 dozen donuts cost?

A book store sells a box of 15 books for $123. How
much would 14 boxes cost?

A shoe store sells a pair of shoes for $124. How
much would 36 pairs cost?

A clothing store sells a pack of 10 t-shirts for $234.
How much would 13 packs cost?

A pet store sells a pack of 20 dog food cans for
$345. How much would 11 packs cost?

10 A stationery store sells a box of 30 pens for $123.
‘bHow much would 16 boxes cost?
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